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Fluency & PrecisionNC Objective: Estimate and use inverse operations 4

Zach has been asked to estimate his answers. Are they reasonable? Explain.
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Reasoning

Reasoning

Calculation Zach’s estimated answer

4,384 + 314 = 4,000

7,441 – 500 = 7,000
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4,384 + 314 = 4,000

7,441 – 500 = 7,000
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Zach’s first answer is not reasonable. His number would have got bigger 
than 4,384 because he is adding to it.

His second answer is reasonable. As 7,441 is close to 7,500, and he is 
subtracting 500. This will leave 7,000.
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